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MAJOR MATH 3 – ANSWER KEY
SEMESTER 2
1. Read and fill in the blanks.
a) The watermelons are 7kg.
The watermelons are 7 000g.
b) The pineapple is 1 000g.
The pineapple is 1kg.
c) The papayas are 1 000g.
The papayas are 1kg.
d) The tomatoes are 2kg.
The tomatoes are 2 000g.
2. Read and circle the correct answer.
a) B		b) D		c) A		d) B
3. Look at the pictures and tick ()the correct answer.
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4. Look, read and tick ( ) True or False.
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5. Fill in the blanks. Then write Addition (A), Subtraction (S), Multiplication (M) or Division (D).
a) divided by / D 
b) minus / S 
c) times / M 
d) plus / A
6. Order the words to make a sentence.
a) The water bottle is twenty litters.
b) The grapes are twenty kilograms.
c) The length of the box is ten centimeters.
d) The area of the square crayon box is seventy square centimeters.
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The soda bottle is one
hundred milliliters.

The soda bottle is one liter.
The soda bottle is one
1000 m]] thousand liters.
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The milk bottle is two liters.
The milk bottle is two
hundred milliliters.

The milk bottle is twenty
liters.
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The tomato bottle is
five hundred liters.
The tomato bottle is
five liters.

The tomato bottle is
five hundred milliliters.

The honey bottle is
seven hundred liters.

The honey bottle is
senventy liters.

The honey bottle is

seven hundred milliliters.
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‘The width of the calculator is 10cm.
‘The length of the calculator is 7cm.
‘The area of the calculator is 70cm?.

It's arubik.
‘The sides of the biscuit are Scm.
‘The area of the biscuit is 30cm?2.

‘The width of the pencil case is 15cm.

‘The length of the pencil case is 15cm.
‘The area of the pencil case is 150cm2.

Itsalego.
‘The side of the dice is 9em.
The area of the dice is 9cm?.
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